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1. Wit o o T w 21, What 18 the tole
R b econystem? i decumpmm 80 |
(@) MM geaw () Produge fiyoq
() RN W Qe woy (1) Consume plang
(©) oty W) o (©) Break down dead Organisms
() WY e e () Provide whelter
22, WR-H Wil S Wit o1l 12 Which type of symbiotic relationship
Wy wger €7 benefits both organisms tnvolved?
(@) wesfiefiore (1) Parasitism
(b) wregiie (b) Mutualism
(6) wesifren (¢) Commensalism
(d) fyrer (d) Predation
3. Frefifon o @ 99 wiitfeafer dx %0 23, Which of the following is a measure of
Fafaear w1 719 B 2= biodiversity in an ecosystem?
(a) womfa Wlfﬁ : (a) Species richness
(b) St =T (b) Biomass
(c) STUTEERT i (c) Productivity
(d) feemam | (d) Stability
24, g fafgum w1 w1 geA w0 H 24. What is the main cause of biodiversity
2— ! loss?
(a) AT P (a) Habitat destruction
(b) STEraTg frep (b) Climate stability
¢) Natural selection
(c) Wepfes =7 ©
. - o d) Genetic diversity
(d) emefes fafase C) :
i i mfor having the
25, faFg B ) T S :;Z;:Ch :u‘ea‘ is fkm;\;:i fo? _
est levels of endemism
¥ fom s ST d—
w (a) Tropical rainforest
(a) IOTHICA
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(c) =EE™ T e
(d) === nfafafiai

38, Tr=fafan 3 @ 7 90 fammg
) : Wm 38.

76'_

(a) =tfa W= gwE

(b) == = =2

(c) AT S B IR

(d) a1 w1 TEES T

39, BE-F A B T UG S 39
FY HH H o -
(a) GAEHmT
(b) TS
(c) @ o HE
(d) @rE s

10, Pt § @ @ o e W 40,
#t s fafa #— |
(a) YFHTHTT
(b) <&
(c) STE9IET
(d) BRI

4l S AT e e e 41,

frrifia @ 3—
(a) TSI WA ST
(b) T W& AT LN |
(c) wateRer e s
(d) T (7 %1 o A

FFfuafTaH
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(c) Buming of biomagg
(d) Mining acﬁVilies

which of ;
the following is an example of

sustaingbla development

(a) OV&Tﬁqhmg
(b) Deforestation

(¢) Using renewable energy sources

(d) Excessive use of fertilizers

Which practice involves reducing waste

production at the source :
(a) Recycling

(b) Reusing

(c) Source reduction

(d) Composting

Which ofthe following is a method of solid
waste management :

(a) Incineration

(b) Combustion

(c) Sedimentation

(d) Evaporation

Which law in India regulates
environmental pollution

(a) Wildlife Protection Act

(b) Forest Conservation Act

(¢) Environment Protection Act

(d) Water (Prevention and Control of

Pollution) Act







47. ﬂ*’l-'w mﬁ'ﬂ 'G"Tﬁm m!w&ﬂ?h 47. Which Il}tmu :

w HaEifin F B weg T ncldrcssc[m;::x:?ﬂwnem aims to
(a) ¥ W (@) Kyoto Protocq|
(b) Hifgas ey (b) Montreg| Protocol ‘
(c) qu® gEEH ¢) Basel Convention I
(d) wmRH (d) CITES *1
48. ﬁq"“;m S N Lol Y Wy 48. 'W]}lﬁch practice can reduce water
EHT T Poliution ?
(a) e # sireifies ey W Yo (@) Dumping Industiral waste in rivers
(b) Sfers et & Bl H I oo (b) Using organic farming methods
(c) WieRTRl w1 FAHE S () Overusing pesticides
@ fom sw=fa &S H B (d) Discharging untreated sewage
49. ﬁ"’iﬁ’fﬁ;’ﬂ # § BE aA W weE 1 49, Whichofthe followingisa consequence of
gfoms 8— deforestation? |
(@) v fafaum & afg (a) Increasein biodiversity
(b) g1 FREA (b) Soil erosion
' I ed air quality
(c) arg T ¥ FER © SR
(d) werarg feeran (d) G sabity
50. SH-9 1= BHRE Tarat mi‘ 50. W‘rﬁcht'erm mf:rs to the c?nta:nination of
¥ dguw B gea F@ E? theelm y harmful
() S (a) Conservation
(b) ¥ (B) T
() afEm (c) Afforestation
(d) W . (d) Reclamation
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I o, Ll
(a) T
(b) F™H
ORsC
@3 =
-

63. ‘s’ = 7
(a). wﬂ 154

w
Rt fobs
I\b | “ :' q;ﬂ n,

‘I 1 wﬂ"
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66.

6.

fire A e e S g
(a) 12 §[A

(b). 21 S

(¢) 12 SHad

(d) 21 SHEd

S B Gy —
(a) 9rEE a3 |
(b) wifey @3 &
(c) U¥E 93 |
(d) TR 9% |/

69. Tz H ‘W2 v o ek R —

1103286

(a) 60
(b) 6
(© 8
d 7

e o = ————

68.

70.

Tratak is beneficiary fo; .
(a) Nose

(b) Eyes

(c) Stomagh

(d) Mouth

When ig celebrated World Yoga Day
(a) 12 June

(b) 21 June

(¢) 12 January

(d) 21 January

Dhyan has a relationship

(a) From the digestive system
(b) From the skeletal system

(c) From the muscles system

- (d) From the nervous system

What does ‘Shat’mean is Shatakarma
(a) 60
(b) 6
(c) 8
(7

Which is Shodhan Kirya :
(a) Neti

(b) Dhauti

(c) Basti

(d) All of the above







5. SET A HF 3 §—

719.

81.
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HAEl TE—
(a) FYER
(b) Temit
(c) =t
d) FW@

gﬁm@mﬁ%—-
(a) T&1 T
(b) T =t

(C)EE"""?T@
(d)sqﬁ%as‘léﬂ"f

. Tl fove 9 e e g e

77.

78.

79.

80.

81.

[19]

Which is the part op«
of Alh
tan, )
(a) Aasana g Yoga

(b) Pranayam
(¢) Dhyan

(d) Allof the abye

Select the right formation

(2) Poorak, Kumbhak, Rechak
(b) Nauli, Dharna, Basti

(€) Bandh, Jal, Tratak

(d) Dhyan, Om, Aasan

Where was the 10" World Yoga Day
celebrated by Prime Minister

(a) Kashmir
(b) Delhi
(c) Ranchi
(d) Surat

Surya nadi is called :
(a) Ida nadi

(b) Pingla nadi

(c) Sushumna nadi
(d) None of these

In “Neti Kriya® out water through :
(a) By mouth

(b) By nc;sc

(c) By eye

(d) By anus

What is meaning of Asa’?

(a) Seat

o










91, S mmﬁ%@m £ 8 I

==

(a) gEHTER ‘
(b) TERHA a
(c) ¥isfa l
(d) g

92. fra & wh A & anfg ¥
(a) wr wafty
(b) st 7
(c) T
(d) =fs afim
L
93. wifir smew & firmer wfirer #—
(@ Pre v
it S ik
© =g
(d) ¥ 3w

'll.:lﬂ e AIﬁﬁl‘d?-:-If-' sk

94. il % SER A s i —
1 “r ) )

\ =SULT T
to Yogic Ahara it is included in

i







